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QUESTION 1

Which statement is true regarding the default behavior of the order by clause?

A. In a character sort, the values are case-sensitive.

B. NULL values are not considered at all by the sort operation.

C. Only those columns that are specified in the select list can be used in the order by clause.

D. Numeric values are displayed from the maximum to the minimum value if they have decimal positions.
Correct Answer: A

Character Strings and Dates

Character strings and date values are enclosed with single quotation marks. Character values are case-sensitive and
date values are format-sensitive.

The default date display format is DD-MON-RR.

QUESTION 2

Examine the data in the CUSTOMERS table:

CUSTNO  CUSTNAMECITY

4
1 KING & SEATTLE
2 GR BOSTON
3 HAR SEATTLE
4 ITH  NEW YORK

You want to list all cities that have more than one customer along with the customer details.
Evaluate the following query:
SQL>SELECT cl.custname, cl.city

FROM Customers c1 Customers c2

ON (cl.city=c2.city AND cl.custnamec2.custname);

Which two JOIN options can be used in the blank in the above query to give the correct output? (Choose two.)
A. JOIN

B. NATURAL JOIN

C. LEFT OUTER JOIN

D. FULL OUTER JOIN
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E. RIGHT OUTER JOIN

Correct Answer: AE

QUESTION 3
Evaluate this SQL statement:
SELECT ename, sal, 12*sal+100 FROM emp;

The SAL column stores the monthly salary of the employee. Which change must be made to the above syntax to
calculate the annual compensation as "monthly salary plus a monthly bonus of $100, multiplied by 12"?

A. No change is required to achieve the desired results.

B. SELECT ename, sal, 12*(sal+100) FROM emp;

C. SELECT ename, sal, (12*sal)+100 FROM emp;

D. SELECT ename, sal+100, *12 FROM emp;

Correct Answer: B

to achieve the result you must add 100 to sal before multiply with 12. Select ename, sal, 12*(sal+100) from EMP;
Incorrect answer:

A. Multiplication and division has priority over addition and subtraction in Operator precedence.

C. Give wrong results

D. Wrong syntax Refer: Introduction to Oracle9i: SQL, Oracle University Study Guide, 1-11

QUESTION 4

Examine this statement:

SELECT student_id, gpa FROM student_grades WHERE gpa > andandvalue;

You run the statement once, and when prompted you enter a value of 2.0. A report is produced.

What happens when you run the statement a second time?

A. An error is returned.

B. You are prompted to enter a new value.

C. Areport is produced that matches the first report produced.

D. You are asked whether you want a new value or if you want to run the report based on the previous value.

Correct Answer: C
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Use the double-ampersand if you want to reuse the variable value without prompting the user each time. Incorrect
answer:

A. is not an error
B. andand will not prompt user for second time

D. andand will not ask the user for new value Refer: Introduction to Oracle9i: SQL, Oracle University Study Guide, 7-13

QUESTION 5

Which three SQL statements would display the value 1890.55 as $1, 890.55? (Choose three.)
A. SELECT TO_CHAR(1890.55, \\'$0G000DO0O0\\')FROM DUAL,;

B. SELECT TO_CHAR(1890.55, \'$9, 999V99\\')FROM DUAL,;

C. SELECT TO_CHAR(1890.55, \'$99, 999D99\\')FROM DUAL;

D. SELECT TO_CHAR(1890.55, \\'$99G999D00\\')FROM DUAL;

E. SELECT TO_CHAR(1890.55, \'$99G999D99\\')FROM DUAL,;

Correct Answer: ADE
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